CHif - [9)

, TETX ‘|if'ﬂ75 H29 X
ik i ap | am | L I 93 T Y W= N Y V= T N3 W N Y D N ;D= N IS5V 0| I (%
== B
F6E B W = &
. IKP9ERfE
(1) Rk -Fv b5
SFAR L B (S5400) M10X16m 0000 M ke 225] 225 225] 225 225 225 225
S fi AL E_(S5400) M12X16m 0000 1/ kg 205! 205 205 205 205 205 205
AR B (S5400) M10X20m 0000 M/ kg 25] 225 225 225 225 225 225
AL (SS400) M12X20mn 0000 1/ kg 205 205 205 205 205 205! 205
AL B (S5400) M14x20m 0000 M/ ke 205 205 205 205 205 205! 205
AR (SS400) M1 6 X2 0mn 0000 9 kg 175 175 175 175 175 175 175
AL R (S5400) M10X25m 0000 M/ kg 225 225 225 225 225 225 225
ANFARL B (S8400) M1 2X25mm 0000 M/ke | WEERA| DEESA| WEEESA| DiEEsA| WEEESA| Wik | MlEEiod
RfAL B (S5400) M14X25m 0000 10/ ke 205 205 205 205 205 205 205
ARV R (S5400) M16X25mm 0000 M/ ke | DR A | DEESA| DMERSH| WA | Wik A '«WﬂhéHSH Dt k0 H
AR R (SS400) M 10X 3 O0mn 0000 9/ ke 225 25 225 25 225 225
AL R (S5400) M12X3O0mn 0000 M kg | DAREESA | WIlEE3 A | Wiliaes Al Wiliss A | Wi ks A %W’F’IHSH PlE R0 H
SR L B (S5400) M14x30m 0000 M/ ke 205 205 205 205 205 205 205
AfAL B (S5400) M1 6 X3 O0m 0000 U/ ke | PMVERISH | WfliveEt3 | WfliveE3 A | WvEE3a | DmvEsA | Wmvess A | #iliveeiod
NfARL B (55400) M2 0 X3 Omn 0000 M kg 175 175 175 175 175 175 175
SfARL E(55400) M2 2% 3 Omn 0000 1/ kg 175 175 175 175 175 175 175
A fAL B (S5400) M2 4 X3 Omn 0000 H 175 175 175 175 175 175
AfaARL R (S5400) M10X35mm 0000 & WIAmEESH | Pl e WImEESH | Dl EES A DifEEL10 A
Afar b (S5400) M12X35m 0000 5] DAEESH [ W3 | W3 A | Wi ss A | Wi Es A | Hifigest 104
SR b (S5400) M14x35m 0000 H 205 205 205 205 205 205
(55400) M 16 X3 5m 0000 T WML | DmEESA | PR A | Wilieee3 | Wve kA | Yl Er104
(55400) M2 0X35m 0000 M 175 175 175 175 175 175
(SS400) M 2 2 X 3 5mm 0000 175 175 175 175 175
(55400) M2 4 X3 5m 0000 175 175 175 175 175
(55400) M 10 X4 Omm 0000 WAmEE A Wi’ TR A | i EE s 1l | Onfiiee £k 10 1
b (S8400) M 12 X4 0mm 0000 DoliE kL3 A WAiE R A | PlieEo A
b (88400) M 1 4 X4 Omn 0000 205
(S5400) M1 64 0m 0000 Dol FL3 H
(85400) M2 0 X4 Omm 0000 Wi EE3 A WAE R A WffiEEt10 A
SFFILE(55400) M2 2 X4 Omn 0000 175 175 175 175
AR B (S5400) M 10X45mm 0000 HEBA Wﬂhéﬂsn
AL B (S5400) M1 2X45m 0000 WA RS H | il A
AL B (S5400) M14x45m 0000 205 205 205
fAL R (S5400) M 16 X4 5m 0000 DR | PR3 A | Wil ’:ﬂsﬂ %hui*ﬁ*‘l-sﬁ R0 A
NFARIL B (S5400) M18x45m 0000 ke 246 246 246 246 246 246 246
AL B (S5400) M2 0 X4 5mn 0000 M/ kg : Wi DmEE3A | Wil A
RV R (S5400) M2 2 X4 5mn 0000 14 kg Dol AEEISH | Wil A
S fARL B (S5400) M2 4 x4 5m 0000 1 ke 175
AfAL b (S5400) M10X50m 0000 ke | W MlivEEA Dol v L3 A DT e A
AAfARL B (S5400) M1 2x50m 0000 M kg | DIHEESH waﬁéﬂaﬂ WIGEEBA | YA A | Wil A
AR/ B (S5400) M14%50mn 0000 I/ ke 205 205 205 205 205 205 205
SR B (S5400) M16X50m 0000 M ke | WMiGERISA | PMGEESA [ WIGEESA | Dl | Hilivesd | wiides i | HEE10A
AR B (S5400) M1 8 x5 0mn 0000 ke 246 246 246 246 246
AfyAL b (SS400) M2 0 X5 0mn 0000 M ke | filiEEE3 A i £l £l
AfAL B (S8400) M2 2 X5 0mn 0000 kg | IlEES3A
16_HEMRER i (H29.11.1).xIsx 1/12
— - CHAT = 1)
B e H29
s it P S I ;i ST SATH AL SATH ksl
/\AT» b (S8400) M2 4 X5 0mm 0000 M kg | WEESH| WA A | Wi ks | Wi e A | Wi e ks £H0 A
L (55400) M3 0X50mn 0000 1 ke 230) 30 230) 30 230) 230
(S8400) M10X55mm 0000 M/ kg | DR A Wi ki3 A | WAiieekis A | Wlfiekls | iliees iliEE0H
(55400) M12X55mm 0000 U/ke | Wligek3 A | Wflivek3 A | e A | DImEEsH| Wildes A fitas Dffi¥EEF0A
(55400) M14%55m 0000 M ke 205] 205 205 205 205 205 205
(85400) M16X55mm 0000 U/ ke | Wflicee3 | Wflivekr3 | PvEEsl| s3] meess A Wil A | Pfiiveki0 ]
(55400) M18X55m 0000 M/ kg 246) 246 246 246 246 246 246
(55400) M2 0X55m 0000 9/ kg | DIl WIGEEBA | DAEESA | W3 A | Wik A | WmEEsA | YimEE10 4
(55400) M2 2 X5 5m 0000 M/ ke 175 175 175 175 175 175
SF RV B (SS400) M24%55m 0000 M/ ke 175 175 175 175 175 175
RfAL R (S5400) M3 0X5 5mn 0000 kg 230 230 230 230 230 230
NfiARL R (SS400) M10X60m 0000 M/ ke | ofifi DAEEEIA | PR3 A | WieeR3 A | Wffivekis A | ik A E
ASfAL B (S5400) M1 2X60m 0000 M/ ke | WMERSA| WAREESH| WfiEE3| WiiEe3 | wilides A | WiliEss A | Hiiigki0A
RFAFL L (S5400) M14X60mn 0000 kg 205 205 205 205 5 205 205
JSFRY B (55400) M16%60mn 0000 1 ke | DiiEksA| DiiErsa | b DR A | DIvErR A | Bivors s | Hiiveriof
RfARL B (S5400) M1 8 X6 Omn 0000 1/ kg 246 246 246 246 246 246
AfHRL B (S5400) M2 0 X6 0mm 0000 M/ kg | Wi 3A | Wil LA i DR A | i WmEE10A
AL B (S5400) M2 2 X6 Omn 0000 M/ke | DAREESA| DEEEBA | Wi Wit WAEE | R | WffiEEt10 A
AL b (S5400) M2 4 X6 0mn 0000 M/ kg | DAERBH | PfiieEEs A | WMiie ks A | i WAEEA | PERB A | WiliZEoA
S fAR L B (58400) M3 0 X6 Omn 0000 M kg 230 230 230 230 230 230 230
ARV R (S5400) M3 6 X 6 Omn 0000 1/ kg 242 242 242 242 242 242 242
AL B (SS400) M1 0X65mm 0000 M ke | WMRERBA | WAREESA | WEESA | SMERSH| DR A | WiEkEsA | HiliEkioA
AL B (S5400) M12X65m 0000 M/ kg | DlEE3A | Wligeesn | Wflidees A | Wit ks A | WAlee ks A | ik | wfigeeiio
S fh L B (S5400) M14X65m 0000 M ke 205 205 205 205 205 205 205
Afa AL B (S5400) M1 6 X6 5mm 0000 U/ kg | WfliveEr3 A | WfivEEs A | fliviEs A %ﬂffrﬂsﬂ DAMZEEISA [ P ilveR3 A | Pflizekt104
AL | (55100) M18X65mm 0000 [ kg 2 4 24 24 24
~(SS400) M2 0 X6 5mm 0000 1/ ke il it il 210 A
(S8400) M2 2 X6 5mm 0000 M kg 34 i iz R0 A
b (S5400) M2 4 X6 5mn 0000 M ke [ [ B3| Wi DEEFO A
(S5400) M3 0 X6 5mm 0000 M/ ke 230 230
(55400) M3 6 %6 5m 0000 M ke 242 242
(85400) M10X70m 0000 4/ kg Dol v L3 A W3 A D et k0 A
(55400) M1 2X70mm 0000 M/ ke WAfEEA Wi kL3 A 5fc Dl E L0 A
(55400) M14X7O0mn 0000 14/ kg 205 205 205 205
(85400) M 16X 70m 0000 1M/ ke L2 RS RY) EE DAREESA | DREESA | Hlies A | Wil sioA
AL B (S5400) M18X7Omn 0000 kg 246 246 246 246 246 246
ASfARL B (S5400) M2 0 X 7 Omm 0000 M/ kg et A AR A [ i k3 1 il eEkL0
AfARL R (S5400) M2 2 X7 Omn 0000 11/ ke 3H 0
AL E(58400) M2 4% 7 Omn 0000 9/ ke 3H
AFAR/L R (S5400) M3 0 X7 Omn 0000 I/ kg 13 H Kl
SFRL R (SS400) M3 6 X7 Omn 0000 kg 242 242
AL B (S5400) M1 0X75mm 0000 1/ ke WIS H PEEISH | lZeR3 A | Poflieki10H
NfiRL R (SS400) M12X75mm 0000 M/ ke i) Dl E R A ) GRISH | WMER A | Wik A
RFaRL R (55400) M14X75m 0000 1/ ke 205 205 205 205 205 205 205
AR R (S5400) M1 6 X7 5mn 0000 M ke | OARERBA | WiiER3 A | Wi k3 A | ks a | WIiaEsH | WREEBA | WilizkioA
S fgRL B (S5400) M18X75mm 0000 A ke 246 216 246 246 246 246 216
AfAL b (S5400) M2 0 X7 5mm 0000 M ke | ORI A | WiiEE3H | WREE3A | DImEESA | WIiEEsH | Wges A | Yo
S FA L B (55400) M2 2 X7 5mn 0000 M ke 175 175 175 175 175 175 175
ANFAL B (SS400) M2 4 X7 5m 0000 1/ ke 175 175 175 175 175 175 175

121

16_ M ERH(H29.11.1).xIsx 2/12




CHif - [9)

, FERXT A . 129 —
o il | ampe | WM GATH TALA SATH oATH T i %
(55400) M3 0X7 5mn 0000 M ke 230) 230 230 230 230
(55400) M3 6 X7 5mn 0000 1/ kg 242 242 242 242/ 242
(55400) M10X80m 0000 M ke DTEE A E] DiEEB A
(55400) M12X80m 0000 4/ ke PAERISH | PAIERB A | Wfiliek3 A | Wil kL3 A
(55400) M14x80m 0000 ke 222 222 222 222 222
(85400) M16 X8 0m 0000 M/ kg AR A | WM EISH | WS | Wilieees A | Yfiiei koA
(55400) M1 8X8Omm 0000 M/ ke 246 246 246 246/ 246
NAAFL b (88400 M2 0 X8 Omm 0000 M/ kg LA RERY) # FHO0A
AL R (S5400) M2 2 X8 Omm 0000 M/ ke Pl e R A 0
AL B (85400) M2 4 X8 0mn 0000 4/ kg ; DT e A oA
ARV B (SS400) M3 0X80mm 0000 M/ ke | iveEs )] Dl e EH F BAIEDErS ] 0
AR (S5400) M3 6 X8 Omm 0000 1/ kg 242 242 242 242 242
AFARL R (55400) M4 2 X8 Omn 0000 M/ ke 278 278 278 278 278
SFARL B (S5400) M10X85m 0000 M/ ke 226 226 226 226 226 226 226
S AL R (S5400) M12X85mn 0000 U/ ke | WflieEE3H | WMVEESA | PDIEEESH| PGS H| WihvesA| Wik d | Wieek 104
AR B (55400) M14x85m 0000 M/ kg 222 222 222 229 222 222 222
ANfAUL B (S5400) M16X85mm 0000 U/ke | DflVEE3H | PVEE3A | PDIEWESH| PR3 A | Wilees A i3 A | Hfiniek 104
NfAR L B (55400) M18x85mm 0000 M/ kg 246 246 246 246 246 246 246
AfAL B (S5400) M2 0 X8 5mm 0000 ke | WMREEBA | WfiiiE WIAGEEA | PAGZE3 A | Wiliae3 A | Wi k3 A | Wl k10
iR/ B (55400) M2 2 X8 5mn 0000 M/ kg 175 175 175 175 175 175
AfARL R (85100) M2 4 X8 5mm 0000 M/ kg 175 175 175 175 175 175
AfAL B (S5400) M3 0 X8 5mn 0000 1 kg 230 230 230 230 230 230
AL B (S8400) M10 X9 Omn 0000 M ke 31 Wi e H IR H | Wi B3 H | Pofifi et o 1
AfAL b (S8400) M1 2 X9 Omn 0000 M/ ke 3H WfiligEEr3 A RIS H | Wl EL3H | Pofiligitt1o
SfEAR L B (S5400) M14x90m 0000 ke 222 222 229 222 222
4RV b (SS400) M1 6 X9 Omn 0000 M/ kg | itk A Wik A RIS A | Wi L3 A | Pofifigidt10
A fERL B (S5400) M 18X9 Omn 0000 1 ke 246 246 246 :
AL B (S5400) M2 0x9 0m 0000 1/ ke
AL R (S5400) M2 2 X9 Omn 0000 M/ ke
/\ﬁwu I (55400) M2 4 X9 Omn 0000 1/ ke : ¥
( M3 09 Omn 0000 1/ ke Dolig L3 A Wil EEE H
AL b (S8 M 3 6 X9 Omn 0000 M kg 242 242 242 242
AL R (S5400) M4 2 X 9 Omn 0000 ke 278 278 278 278 278
ANFgAL B (88400 M10X10O0m 0000 M/ ke Wi BB H g WIHEEH | WEES A | P10 A
ARV b (S5400) M12X100m 0000 ./ kg Wi ER A i ks i Wil Ek10
AR (SS400) M1 4X10O0mn 0000 kg 55 255 255
ANFIRIL B M16xX100m 0000 M kg EZIERERY] WAEESA | Pl H Wi kr0 A
AR R M18%100mm 0000 1k 246 246 246 246 246
AL R M20 %10 0m 0000 1 ke | iR | Afieoris i IZERE A | P EOErL0 A
/\%1 -r“/v b M22X100m 0000 M ke | WMiEEEISA | gkl A DR A | Wik | Pofiiei ko A
M2 4X100m 0000 M/ ke | Wfiigeers | Witk A DIEEEI A | Wil i A | Wilige k104
M3 0X100m 0000 M ke | DfEE3H | WEEESRA Wit B 1 “ il EOE3 A | i ek 10
B M3 6 %10 0mn 0000 1/ ke 242 242 242 242
(55400) M4 2% 100m 0000 kg 278 278 278 278
L (S5400) M4 8 X 10 0mm 0000 1/ kg 301 301 301 301
AfAL b (SS400) M10X110m 0000 M/ kg WfliEE A A i DAREEE 10
AL B (SS400) M12X110m 0000 M. ke il 2B H A WAL WiEE0A
(S5400) M14X110m 0000 4/ ke 255 5 55 255
ANFARL B (SS400) M16X110m 0000 M/ ke WIIEESA | DIEEESA | PEEE A | W3 A [ Wik A | HfiieEr10 4
16_ MR ER i (H29.11.1).xIsx 3/12
— - CHAT = 1)
< i o H29
ik B | g | WA SATH TR SATH AT Lkl
AR B (SS400) M18X110mm 0000 M/ ke
AL b (S5400) M20X110mm 0000 11/ ke Al il
AL B (554000 M22%110m 0000 1 ke it it
NFARL T (S8400) M24X110m 0000 M/ ke i Wil
AL b (SS400) M30X110m 0000 M/ ke 2 A
AfAARL B (S5400) M36x110m 0000 M ke 242 242 242
SARL F(SS400) M4 2X110m 0000 1/ kg 278 278 278
ARV B (S5400) M4 8X110mm 0000 M/ ke 301 301
AfBRL R (S5400) M10X120m 0000 9/ kg WflEEr3 A Dl E L0
AR R (SS M12X120m 0000 ke i Lz EREA]
AN R (S5400) M14xX120m 0000 11/ ke 25t 255
AFARL B (85400) M16X120m 0000 M/ ke B D EE0H
AL B (S5400) M18X120m 0000 M ke 6 246
AAfiAL b (S5400) M20X120m 0000 M kg
RFAFL B (S5400) M22X120m 0000 M/ kg
AR B (S5400) M24x120m 0000 M/ kg
AfAL B (S5400) M3 0X120m 0000 1/ kg
NFARL B (55400) M36x120m 0000 kg
S faL R (S5400) M4 212 0mn 0000 1/ ke
AfARL B (55400) M4 8x120m 0000 M/ kg
ARV L (S8400) M10X130mm 0000 U/ke | Wil mmn@ L HyfiliE 10 A
AL b (S5400) M12x130m 0000 M kg | ofi Wiz A | Dfitizkr 107
AfEAR L B (S5400) M14x130m 0000 I/ ke 255 255 255
AL b (S8100) M16xX130m 0000 M ke | DIEEEBA | PAlEEB A Wﬂﬁ’ﬁﬂah DTS A | Wi v | Poffivetrio A
ANFARL R (S5400) M18X130mm 0000 M. kg 246 246 246 246 16 246
(55400 M20x130m 0000 M ke i 2 i i 2L A Wi ERE A | iR o | Wi kko A
L (88400) M2 2X130m 0000 U/ kg | Wfiive it it 4 DR A | i A | Wit 103
(55400) M24X130mm 0000 M kg il % it il MIEEERS A | Wnfli il 2 kR0 1
(58400) M30x130mm 0000 M/ ke | Wffigks A i Wftigts 4| 4 Y fiieE At A D& R0
(55400) M36x130m 0000 1/ kg 242 242 242 242
- (55400) M4 2% 130m 0000 M ke 278 278 278 278
(55400) M4 8% 130m 0000 1/ kg 301 301 301 301 301
(55400) M 1014 0m 0000 M kg | WIlieee3 | Wilivesd | Wik A iR A i EEEFL0H
k(85400 M 12X140mm 0000 M ke | PAGERBH | Wil A | filieek3 A F WL | DImEESH | PilizEo A
I (55400) M14X140m 0000 ke 255 255 255 255 255 255 255
AL b (SS400) M16>140m 0000 M/ kg | Wfiieees | WMk A | Wfliee ks A | Wil ki3 A | Wil | Wiliae3 A | Yiiigt koA
SFARL B (S5400) M18X140m 0000 ke 246 246 246 16 246 246 246
ARV b (S5400) M20X140m 0000 M/ ke 3H il i 4 Kk3 A i i Kk 10
RFAAL B (S5400) M2 214 0mn 0000 1/ ke 4 [ DREEESA | i i
ANfARL R (S5400) M2 4x140m 0000 M/ ke il MRk A ZAi AT EEE
ARV B (S5400) M3 0X140m 0000 M ke [ Wfies Wik A | Wi A | Dfiiees A | fi
SFAAL E(S5400) M3 6X140m 0000 0/ ke 242 242 242 242
AR B (S5400) M4 2X140m 0000 M/ ke 278 278 278 278
SFARL E(55400) M4 8% 14 Omn 0000 1/ ke 301 301 : 301 301 301
S fiRL B (SS400) M10X150m 0000 M ke | PARERRBA | PR A | Wik A | SRS | WIiEEsH | YRR A | Pk
S AL B (S5400) M12X150m 0000 U/ ke | WfiEERSH | WfliVEEISH | WlVEEISH | PAREEEISH | ki3 Wfi¥EE 10
NfARL B (S5400) M14x150m 0000 A ke 255 255 255 255 255 255
AfAL b (55400) M16x150m 0000 N/ke | RS A | WMEESA | DIHEESHA | PR3 A | Wihdes A | WifE ks A | Hind k104
AR/ B (55400) M18X150m 0000 M/ kg 246 246 246 246 246 246 246

122

16_ R ERH(H29.11.1).xIsx 4/12




CHif - [9)

, JIEY R [ 129 —
i il | oo | M SHTH TIin BN oI T i %
AfgAL B (S5400) M20X150m 0000 1/ kg iR A iR A 34 | Wit eEk 10 A
SR B (85400) M22X150mm 0000 M/ ke PUmEEL A YmE Wi 0 A
ARV B (SS400) M24X150mm 0000 M ke Wil 4 kL3 A DliEE0H
AL B (S5400) M30X150mm 0000 U/ ke | WMEERA | fleEEs A L0 H
AL B (554000 M36x150m 0000 M/ kg 242 242 242 242 242/ 242
AL R (55400) M4 2X150mn 0000 M ke 278 278 278 278 278 278
S FAHL E_(S5400) M4 8X150m 0000 M ke 301 301 301 301 301 301
AL B (S5400) M10X160m 0000 M/ ke 226 226 226 226 226 226
RfAL R (S5400) M12xX160m 0000 ke | Wflieekt3 | WleEE3 A | DmEESA | DmEESA| WmEesA| Wildkes A | Wiidki0 A
ARV B (S5400) M14X160m 0000 M/ ke 255 255 255 255 255 255
N ARV B (85400) M16>X160m 0000 9/ kg WIEEESA | iR A | Wik A Ef2 DB A | Pl 104
AfARL R (S5400) M18X160mm 0000 1 ke 2 22 22
AL R (85400 M20X160m 0000 M/ ke 4 Wi ] Wil A3 11 Dyt B2 4 #H10/
RfgARL B (S5400) M22X160m 0000 1/ kg fiiE 10)
AR B (S5400) M24X160m 0000 M/ ke it 2 10/
S faL R (S5400) M3 0X160mn 0000 1/ ke [ A E [ 4 EF10 ]
AfARL R (S5400) M36x160m 0000 M/ ke 242 242 242
ARV B (88400) M4 2X160mm 0000 M/ ke 278 278 278
AfaR /L R (S5400) M4 8% 16 0mn 0000 M/ kg 301 301 301
L b (S8400) M10X170m 0000 A ke 225 225 225 225 225
AfAL b (85400) M12xX170m 0000 1/ ke | WoffiveErs A Dt Er3 A DTS H | Wi e | Poffivetrio
AL B (S5400) M14X170mn 0000 M/ kg 255 255 255 255 255
AfARL B (SS400) M16X170m 0000 U/ ke | WMREEEA | RS A | MRS | e DGEESA [ WEEEB A | PfliE104
AfEARL R (S5400) M18X170m 0000 M/ kg 22 22 2 22
AL B (SS400) M2 0X170mm 0000 M/ kg | 4 k3 A | i kks A il 5 4 i &) 4 ] EHO A
Afg AL B (S5400) M2 2 X 170mm 0000 1/ ke | 4 Al Wi il [Aee 4 4 [ #H0/]
AL B (S5400) M24%170m 0000 M ke Al Dfizks A | i 103
ANFAARL B (SS400) M3 0X170mm 0000 9/ ke | Al i Dol & W L2 4 PIEEE A | ikt 10 A
AL B (S5400) M36x170m 0000 M/ kg 242 242 242
AFEARL B (S5400) M4 2% 17 0m 0000 M ke 278 278 278
SRV R (SS400) M4 8X170m 0000 1/ ke 301 301 301
AL B (S5400) M10X180mm 0000 M/ ke 225 225 225 225 225 225
AL B (S5400) M12x180mn 0000 U/ kg | WffiveEr3n | Woffivetrs A | Wnffive PR A | RS | Hlivees A | Yilivisio
AL R (S5400) M14x180m 0000 M ke 255 255 255 255 255 255 255
AfRL R (S5400) M16X180m 0000 M ke g WIAGEE3H | A EES A WImEESA | DS A | YiliEE10A
AfAARL R (S5400) M18x180mm 0000 M/ kg 225 225 225 225 225
AFRNL R (S5400) M2 0X18O0m 0000 1 kg Wi E3 A DR A | il A YEE
AfRL B (85400) M2 2 X 180m 0000 M/ ke Wi Kk A WAREEA | Wi A
SRV R (S5400) M24X180m 0000 M/ ke 3| WilEERA WAEESA | LR A
RV (85400) M3 0X180m 0000 M/ ke WEEtsa | mEEB A WEEA | 3
S fiRL R (S5400) M36X180m 0000 M/ kg 242 242 242 242 242
S FARL B (S5400) M4 2% 18 0m 0000 M ke 278 278 278 278 278
AR R (S5400) M4 8 X 18 0mn 0000 1/ ke 301 301 301 301 301
NfA L B (55400) M10X190m 0000 M/ kg 225 225 225 225 225 225
A fARL B (S5400) M12X190m 0000 N/ke | Wik A | HMEESA | HImEE3H DGEE3A | YRR A | Y101
AfAR/L R (S5400) M14x190m 0000 ke 255 255 255 255 255 255 255
AL B (SS400) M16X190m 0000 M ke | WfEESA| WEESH | DEEsA | WBEESH | YmEssA | WmEEsA | Yifigtion
N RL R (55400) M18x190m 0000 1/ kg 225 225 225 225 225 225 225
AR B (SS400) M20X19 O0mn 0000 M ke | Wi | WEESA | DiEEsd | WlEEs | Wiliessd | WA | Yifigetio
16_ MR ER i (H29.11.1).xIsx 5/12
— — CHAT = 1)
< i o H29
g3 i g STH AL TA1H (i
AR b (SS400) M22X190mm 0000 M/ kg il kL A IR A il ELL0 A
NV B (S5400) M24%190m 0000 M ke | 1 DiEE3 A Wi R A Ef3 [ WG 0]
Afg AL B (S5400) M30X190m 0000 1/ ke AR A IR | iRt A 4 Wi EL10 7
SfARL B (S5400) M36x190m 0000 M/ kg 242 242 242 242 242 242 242
SR (SS400) M42X190m 0000 1/ kg 278] 278 278 278 278 278 278
ARV E(S5400) M4 8X190m 0000 M ke 301 301 301 301 301 301 301
AFARL B (S5400) M10X20Omn 0000 M ke 226 226 226 226 226 226 226
AfAL R (S5400) M12X20Om 0000 M/ ke | Wffiveer3s | Wffivetts A | pflivestsA| Wit kish | Wffiveets | iiivee3 | Yffivishio A
ARV B (S5400) M14%200mm 0000 ke 255 255 255 255 255 255 255
AR R (S5400) M16X20O0m 0000 M ke | AR A | Wfliekt3 A 3 DG | PR3 A | WflieeE3 A | Pfiiiekt10 4
ASFFRL B (SS400) M18%200m 0000 M kg 225 225 225 225 225
AfRIL b (S5400) M20X200m 0000 M ke j Wi ER A Wi e A i kb0 A
fAL B (S5400) M2 220 0m 0000 1/ kg il
RFA AL R (S5400) M24X200m 0000 9/ ke Y WA R A
ARV R (S5400) M3 0X200m 0000 M ke DGR H | WAERB A | Wilik3H | Wil k3 A f PrfiliEkr0 A
S FATRL B (S5400) M36X200m 0000 M ke 242 242 242 242 242 242
RfAL F(S5400) M4 2X200mn 0000 4 kg 278 278 278 278 278 278
NfARL B (55400) M4 8% 20 0mn 0000 M/ kg 301 301 301 301 301 301
RfARLF(S5400) M4 2% 22 0m 0000 1/ ke 278 278 278 278 278 278
AL B (55400) M4 8x220m 0000 M ke 301 301 301 301 301 301
AR R (SS400) M4 2X24 Omn 0000 1/ ke 278 278 278 278 278 278
AfEAR L B (S5400) M4 8X240mn 0000 M ke 301 301 301 301 301 301
S B (554000 M4 2X260m 0000 M ke 300 300 300 300 300 300
AL E(S5400) M4 8X260m 0000 1/ kg 318 318 318 318 318 318
AL B (S5400) M4 2x280m 0000 M/ kg 300 300 300 300 300 300
AL E(55400) M4 8X 28 O0mn 0000 1/ kg 318 318 318 318 318 318
AL R (S5400) M4 2x300m 0000 ke 300 300 300 300 300 300
NFRL R (SS400) M4 8 X300mm 0000 M. kg 318 318 318 318 318 318
AfgAL R (SUS304) M8 X 2 Omn 0000 0/ ke 800 800 800 800 800 800 800
ARV B (SUS304) M1 0X20mn 0000 M/ ke | DEEBSA | WEESA | DEESH | WEEH | WUEEBA | Wi ks A | wfiigkiio 4
fARL R (SUS304) M12X20m 0000 1/ ke 800 300 800 800 300 800 300
AfARL R (SUS304) M8 X 2 5mn 0000 M ke 800 800 800 800 800 800 800
AR (SUS304) M 10X25mm 0000 M/ ke | WMEEBSA | WEEESA | HIEHEESH WIGEE3A | AEEES A | iliEE10A
AfARL R (SUS304) M12X25m 0000 ke 800 800 800 800 800 800 800
AL b (SUS304) M16x25m 0000 A ke 800 800 800 800 800 800 800
N fARL B (SUS304) M8 X 3 Omn 0000 1/ kg 300 300 800 300 800 800
gL b (SUS304) M10X3O0m 0000 M ke | MRS A | Pofilies Dplies L3 DMEEELSA | ikl
AL B (SUS304) M1 2X3O0m 0000 Y/ ke | OMBEEISH | Wikt Wil B3 A g DAGEE3A | i3 A £k
iRV R (SUS304) M1 6 %3 Omn 0000 M/ kg 800 800 800 800 800 800
SfARL B (SUS304) M8 X 3 5mn 0000 M ke 800 800 800 800 800 800
AfAL b (SUS304) M10X35mm 10000 U/ kg | WfliveEr3 | Wnfilive DT e A i El WAmTEESH | P lzEE0H
ARV B (SUS304) M1 2X35mm 0000 M ke | WMEEBA | fiie Wi e e A : WifEEA | il e
AfARL B (SUS304) M 16 X3 5m 0000 1/ kg 300 800 800 300 800
S fh L E(SUS304) M8 X 4 Omm 0000 M/ kg 800 800 800
ANFAARL B (SUS304) M10x40mm 0000 M/ ke ik WIGEESH | PiiE Wit DAGEESH | WilE s A | Wfifid k10 A
AfALF(SUS304) M1 2 X4 0mm 0000 M ke | Wflieek3 A | ek A | P i ¢ El Al EL3H | Pofifi 210 1
AR B (SUS304) M 16x40m 0000 M/ kg 800 800 800 800
AL R (SUS304) M2 0 X4 Omn 0000 kg 800 300 300 800
AfaARL B (SUS304) M8 X 4 5mn 0000 1 ke 800 800 800 800

16_ A ERH(H29.11.1).x1sx 6/12

123




CHif - [9)

Y

TR .
i il b | ap SHTH T i %
(SUS304) M10X45mm 0000 4 Wil 4 Wi
(SUS304) M12X45m 0000 1/ kg ik H il nfifi %
(SUS304) M1 6 X4 5mn 0000 M kg fiigE k3 1 | it [ Dl E
(SUS304) M2 0 X4 5mm 0000 1/ ke 800
(SUS304) M8 X 5 Omn 0000 M/ kg 800
(SUS304) M10X5Omn 0000 ke 800 800
(SUS304) M12X50m 0000 M ke | fieE3H | WIREEBA | DIMEESH| WA H| Wihes A il e
(SUS304) M16X50mm 0000 M ke | DfieeesA| Wik A WG] WiiwksA| Wiz ] HiiE Wi ZeErL0 A
(SUS304) M2 0 X5 Omn 0000 kg 800 300 800 800 800 800 300
(SUS304) M8 X5 5mn 0000 M/ ke 800 800 800 800 800 800 800
(5US304) M10X55m 0000 1/ ke 800 800 800 800 800 800 800
(SUS304) M12X55mm 0000 M/ ke | DWEESA| DEEESH| WRZRBA| Wiiee3a | WifEE3A | DmEEsA | HilEE10H
(SUS304) M16X55mm 0000 M ke | DHEESH | DWEESH| WA | WiiEes | WifiE s A | D e | HilEei08
(SUS304) M2 0 X5 5m 0000 1/ kg 800 800 800 800 800
(SUS304) M8 X 6 Omn 0000 M/ kg 800 800 800 800 800
(SUS304) M1 0 X6 Omn 0000 1/ ke 800 800 30
(SUS304) M1 2 X6 O0mn 0000 M kg ek i E i 2k i 2k i piiiZe EH0
(SUS304) M16X60m 0000 M/ kg | ffi D Dl Dl Wi iz Er0 A
(SUS304) M2 0 X6 Omn 0000 M/ ke il Al A Al 5 il MO
04) M8 X 6 5mn 0000 M kg 800
(SUS304) M10X6 5m 0000 1/ ke 800
(SUS304) M1 2 X6 5m 0000 M kg i 2k il 2k iR A | Wik it 25 4 it 20EL0 H
(SUS304) M1 6 X6 5mm 0000 4/ ke | Wil i i Dol &5 Wi Wit 10/
(SUS304) M20X65mm 0000 M/ ke Al 2 il il il EL0 A
04) M8 X 7 Omn 0000 [ ke 800
[6 ) M10X70mm 0000 1/ ke 800
(SUS304) M1 2 X7 Omn 0000 M/ kg 800 800 800
(SUS304) M1 6 X7 Omm 0000 U/ ke | Wnfiis Wi ¥ Wi EL3 A Wi B3 A 104
(SUS304) M2 0 X 7 Omm 0000 M/ kg | Wfifigeks | Wnfifies DRI A | WL H | Wikl | Wfiiekt3 A | Yfiigtktio A
(SUS304) M8 X7 5mn 0000 ke 800 800 800 800 800 800
(SUS304) M10X75mm 0000 11/ kg 800 800 800 800 300 800
(SUS304) M1 2X75m 0000 ke 800 800 800 800 800 800
(SUS304) M16 X7 5m 0000 I kg 800 300 800 800 300 800 300
(SUS304) M2 0 X 7 5mm 0000 M ke | DMIEERSA | WAEESA [ Wfikss | Wieesn | Wilivees A | Wiieers A | Hifieck 104
(SUS304) M 8 X 8 Omm 0000 M/ kg 800 800 800 800 800 800 800
(SUS304) M10X80m 0000 M/ kg 800 800 800 800 800 800 800
M1 28 0m 0000 M ke 800 800 800 800 800 800 800
‘ M1 6 %8 0mn 0000 1/ kg 800 800 800 800 800 800 300
(SUS304) M2 0 X8 0mn 0000 M/ kg 800 800 800 800 800 800 800
(SUS304) M 108 5mn 0000 4/ ke 800 800 800 800 800 800 800
(SUS304) M1 2X85m 0000 M/ kg 800 800 800 800 800 800 800
(SUS304) M16X85m 0000 M ke 800 800 800 800 800 800 800
(SUS304) M2 0 X8 5m 0000 U/ kg 800 800 300 800 800 800 800
(SUS304) M8 X 9 Omm 0000 kg 800 800 800 800 800 800 800
(SUS304) M1 0X9 0mn 0000 1/ kg 800 300 800 300 800 300 800
(SUS304) M1 29 Omn 0000 ke 800 800 800 800 800 800 800
(SUS304) M1 6 X9 Omm 0000 M. ke 800 800 800 800 800 800 800
(SUS304) M2 0 X9 Omn 0000 F ke 800 800 800 800 800 800 800
(SUS304) M8 X 10 0mn 0000 ke 800 800 800 800 800 800 800
AL R (SUS304) M1 0X100m 0000 I kg 800 300 800 300 300 800 300
16_HEMRER i (H29.11.1).xIsx 7/12
— - CHAT = 1)
< ] o H29
Sk Hiks e e TATH ATH G THIN SHATH T TTATH i
S fa AL E(SUS304) M12X100m 0000 M/ kg 800 800 800 800 800 800 800
NV B (SUS304) M1 610 0mn 0000 M ke 800 800 800 800 800 800 800
AfARL R (SUS304) M2 0X100m 0000 1/ kg 300 800 800 800 800 300 800
S (SUS304) M10X35m 0000 M/ ke 1,730 1,730 1,730 1,730 1,730 1,730 1,730
L (SUS304) M12X35m 0000 9/ ke 2,080 2,080 2, 080 2,080 2,080 2,080 2,080
(SUS304) M16X35m 0000 M/ ke 2, 180! 2,180 2, 180) 2, 180 2, 180 2, 180 2,180
(SUS304) M10X40m 0000 M/ ke 1, 670) 1,670 1, 670) 1, 670 1,670 1, 670 1,670
(SUS304) M12X4 Omn 0000 1/ kg 1,930 1,930 1,930 1,930 1,930 1,930 1,930
(SUS304) M1 64 0mn 0000 M ke 2, 020! 2,020 2,020 2, 020 2,020 2, 020 2,020
L (SUS304) M10X45m 0000 10/ ke 1, 580) 1,580 1,580 1,580 1,580 1,580 1,580
(SUS304) M1 2X45m 0000 M/ ke 1,950 1,950 1,950 1,950 1,950 1,950 1,950
L (SUS304) M16X45m 0000 M/ ke 2, 020! 2,020 2,020 2, 020 2,020 2, 020 2,020
(SUS304) M10X50mn 0000 M/ ke 1,550 1,550 1,550 1,550 1,550 1,550 1,550
(SUS304) M1 2 X5 0mn 0000 M/ ke 1, 860 1, 860 1, 860 1, 860 1, 860 1, 860 1, 860
AL F(SUS304) M16x50mn 0000 1/ kg 1,970 1,970 1,970 1,970 1,970 1,970 1,970
LAY F(SUS304) M10X55m 0000 M/ ke 1,700 1,700 1,700 1,700 1,700 1,700 1,700
A/ F(SUS304) M12X55m 0000 1/ kg 1,960 1, 960 1,960 1, 960 1,960 1,960 1,960
AL R (SUS304) M16X55m 0000 1/ kg 2,000 2, 000 2,000 2, 000 2,000 2, 000! 2, 000
] (SUS304) M1 0 X6 0mn 0000 M/ ke 1, 650 1, 650 1, 650 1, 650 1, 650 1, 650 1, 650
(SUS304) M12X6O0mn 0000 11/ kg 1,870 1,870 1,870 1,870 1,870 1,870 1,870
(SUS304) M1 6 X6 O0mn 0000 M/ ke 1,900 1,900 1,900 1,900 1,900 1, 900 1,900
(SUS304) M10X6 5m 0000 1 ke 1,620 1,620 1,620 1,620 1,620 1, 620 1,620
(SUS304) M1 2 X6 5m 0000 M/ kg 1,840 1,840 1,840 1,840 1,840 1,840 1,840
(SUS304) M16X65m 0000 M/ kg 1,890 1, 890 1,890 1, 890 1, 890 1, 890 1,890
(SUS304) M10X70m 0000 M/ kg 1,600 1,600 1,600 1,600 1,600 1, 600 1,600
(SUS304) M1 2 X7 Omn 0000 M/ kg 1, 860 1, 860 1, 860 1,860 1, 860 1, 860 1, 860
(SUS304) M1 6 X7 Omn 0000 1/ ke 1,830 1,830 1,830 1,830 1,830 1,830 1,830
(SUS304) M10X75m 0000 kg 1,610 1,610 1,610 1,610 1,610 1,610 1,610
(5US304) M12X7 5m 0000 ke 1,770 1,770 1,770 1,770 1,770 1,770 1,770
(SUS304) M1 6 X7 5m 0000 M/ kg 1,780 1,780 1,780 1,780 1,780 1,780 1,780
(SUS304) M1 2 X8 O0mn 0000 M/ ke 1,710 1,710 1,710 1,710 1,710 1,710 1,710
(SUS304) M16X80m 0000 U/ kg 1,840 1,840 1,840 1,840 1,840 1,840 1,840
(55400) M8 0000 M/ kg 220 220 220 220 220 220 220
(55400) M10 0000 1/ kg 221 221 221 221 221 221 221
(55400) M1 2 0000 M/ kg 224 224 224 224 224 224 224
(85400) M 1 4 0000 M kg 214 214 214 214 214 214 214
(55400) M1 6 0000 1/ kg 178 178 178 178 178 178 178
(55400) M1 8 0000 M kg 241 241 241 241 241 241 241
(55400) M2 0 0000 1/ kg 185 185 185 185 185 185 185
(55400) M2 2 0000 ke 193 193 193 193 193 193 193
($5400) M 2 4 0000 M. ke 249 249 249 249 249 249 249
(55400) M3 0 0000 M/ kg 271 271 271 271 271 271 271
(55400) M3 6 0000 ke 286 286 286 286 286 286 286
(55400) M4 2 0000 11/ ke 381 381 381 381 381 381 381

124

#(H29.11.1).xIsx 8/12




CHif - [9)

Y

H29

, TR i
it il ap | T SATH GATH TALA SATH oATH T i %
J v I (85400) M4 8 0000 410 410 410 410 410 410 410
F v b (SUS304) M8 0000 939 939 939 939 939 939 939
J > b (SUS304) M10 0000 1,090 1,090 1,090 1,090 1,090 1,090 1,090
v b (SUS304) M1 2 0000 1, 180 1,180 1, 180] 1,180 1,180 1,180 1,180
J > b (SUS304) M1 4 0000 1,520 1,520 1,520 1,520 1,520 1,520 1,520
F v I (SUS304) M1 6 0000 986 986 986 986 986 986 986
F v b (SUS304) M1 8 0000 1,500 1,500 1,500 1,500 1,500 1,500 1,500
J- v b (SUS304) M2 0 0000 1, 170 1, 170 1, 170] 1, 170 1,170 1,170 1,170
F v b (SUS304) M2 2 0000 1, 700 1,700 1,700 1,700 1,700 1,700 1,700
v I (SUS304) M2 4 0000 1,640 1,640 1,640 1,640 1,640 1,640 1,640
F v I (SUS304) M2 7 0000 1, 640) 1, 640 1,640 1, 640 1,640 1, 640 1,640
v b (SUS304) M3 0 0000 1,630 1,630 1,630 1,630 1,630 1,630 1,630
> I (SUS304) M3 6 0000 1, 730) 1, 730 1,730 1, 730 1,730 1, 730 1,730
)~ b (SUS304) M4 2 0000 1,690 1,690 1,690 1,690 1,690 1,690 1,690
v b (S8400) M8 0000 163 163 163 163 163 163 163
3 55400) M10 0000 418 418 418 418 418 418 418
(55400) M1 2 0000 422 422 422 422 122 422 122
(55400) M14 0000 653 653 653 653 653 653 653
(55400) M1 6 0000 501 501 501 501 501 501 501
(55400) M2 0 0000 M kg 611 641 611 611 611 611 641
(55400) M2 2 0000 1/ kg 683 683 683 683 683 683 683
(55400) M2 4 0000 M/ kg 861 861 861 861 861 861 861
(55400) M2 7 0000 1/ kg 1, 060 1, 060 1, 060 1, 060 1, 060 1, 060 1, 060
(SUS304) M8 0000 M/ kg 2,700 2,700 2,700 2,700 2, 700 2,700 2, 700
5304) M10 0000 ke 2,670 2,670 2,670 2,670 2,670 2,670 2,670
(SUS304) M1 2 0000 1/ kg 2, 640 2,640 2, 640 2,640 2, 640 2,640 2, 640
(SUS304) M1 4 0000 M kg 3, 380 3, 380 3, 380 3, 380 3, 380 3,380 3, 380
(SUS304) M1 6 0000 1/ kg 2,920 2,920 2,920 2,920 2,920 2,920 2,920
(SUS304) M2 0 0000 M/ kg 3,130 3,130 3,130 3,130 3,130 3,130 3,130
(SUS304) M2 4 0000 M ke 3,070 3,070 3,070 3,070 3,070 3,070 3,070
i L b (S5100) M12X160m 0000 1/ kg 352 352 352 352 352 352 352
1B L B (S5400) M16x160m 0000 M kg 252 252 252 252 252 252 252
TR 1 (S5400) M12X200m 0000 kg 313 313 313 313 313 313 313
AR /L b (S3400) M16x200m 0000 1/ ke 226 226 226 226 226 226 226
(55400) M2 0X200m 0000 ke 258 258 258 258 258 258 258
T HEREA L | (55400) M12X250m 0000 M ke 319 319 319 319 319 319 319
JBHRERERL B (55400) M16x250mm 0000 M ke 210 210 210 210 210 210 210
JIEIERER L B (S5400) M2 0X250m 0000 1/ ke 242 242 242 242 242 242 242
JIPHERER L B (55400) M12X315m 0000 M ke 304 304 304 304 304 304 304
JIZHERER L B (S5400) M16X315m 0000 9/ kg 200 200 200 200 200 200 200
JIHERER L B (55400) M2 0X315m 0000 M/ ke 228 228 228 228 228 228 228
JJEIERE AL F(S5400) M1 2X400m 0000 M/ ke 276 276 276 276 276 276 276
JIIERER L b (SS400) M16X400m 0000 M/ kg 192 192 192 192 192 192 192
JJUIERE AL (S5400) M2 0x400m 0000 kg 214 214 214 214 214 214 214
JIEIERER L T (S5400) M12X500m 0000 kg 264 264 264 264 264 264 264
T JEIERE AL T (S5400) M16x500mn 0000 M kg 182 182 182 182 182 182 182
T IR L T (S5400) M2 0X500m 0000 M/ kg 203 203 203 203 203 203 203
T IEIERER L R (S5400) M2 4 %50 0mn 0000 M kg 202 202 202 202 202 202 202
T HERER /L R (55400) M2 063 0m 0000 M/ kg 203 203 203 203 203 203 203
16_ MR ER i (H29.11.1).xIsx 9/12
— - CHAT = 1)
< ] o H29
e il e Il N vz SATH GATH THIE SATH TATH TITTE i
T ALY R (S5400) M2 4%630m 0000 M kg 205 205 205, 205 205 205 205
1 A I (S5100) M2 0X800m 0000 M kg 192 192 192 192 192 192 192
JHIERER L B (S5400) M2 4x800m 0000 1/ kg 194] 194 194] 194 194 194 194
T IERER L |- (S5400) M20X1, 000m 0000 M kg 188] 188 188 188 188 188 188
VL b (S5400) M24X1, 000m 0000 9 kg 185 185 185 185 185 185 185
(55400) M24X1, 250m 0000 M/ kg 188| 188 188 188 188 188! 188
(55400) M12X160m 0000 M/ ke 374 374 374 374 374 374 374
(55400) M12X200mm 0000 1/ kg 331 331 331 331 331 331 331
(55400) M16X20Om 0000 M ke 254 254 254 254 254 254 254
LIZIEREFR L R (SS400) M12X250mm 0000 10/ ke 295 295 295 295 295 295 295
L JZIEREAR L b (S5400) M16X250m 0000 M/ ke 225 225 225 225 225 225 225
LIZIERER /L | (S5400) M12X315m 0000 M kg 274 274 274 274 274 274 274
L HEREAR/L b (SS400) M16xX315m 0000 kg 216 216 216 216 216 216 216
LJZIERER/L R (S5400) M20X315m 0000 M/ kg 220 220 220 220 220 220 220
LIJFIERER /L | (SS400) M12X400m 0000 1/ kg 259 259 259 259 259 259 259
LJZHERER/L B (SS400) M16X40O0m 0000 M/ kg 205 205 205 205 205 205 205
LJZIEREAR /L | (S5400) M2 040 0mn 0000 4/ ke 210 210 210 210 210 210 210
LR L | (55400) M12x500m 0000 ke 236 236 236 236 236 236 236
LIJERRER L & (SS400) M16X500mm 0000 M. kg 189 189 189 189 189 189 189
LRV | (55400) M2 0X500mn 0000 11 ke 197 197 197 197 197 197 197
(2) 58 - 88 - SO H
i — ¢ 110~120 SC450 0000 [/ kg 610 610 610 610 610 610 610
r— SC450 0000 M kg 610 610 610 610 610 610 610
(7 —ntd) 5C450 0000 1/ kg 610 610 610 610 610 610 610
— ¢ 110~120 JisHd:  SCMn2B 0000 M/ kg 700 700 700 700 700 700 700
—$110~120 </h” 2/ ye LEREERE  SCMnCr3B {0000 1/ kg 805 805 805 805 805 805 805
E0—F—¢110~120 JubE)7 filihSCCrM3B_[0000 M kg 705 705 705 705 705 705! 705
AT ARALN PBC2 0000 M kg 2, 300! 2,300 2, 300] 2, 300 2,300 2, 300 2,300
sz A 2V - WiEI A 2L 4 LBC3 0000 1/ kg 2,000 2,000 2, 000 2,000 2,000 2,000 2, 000
s A 2V - ikl A 2L >3 0000 M kg 2,000 2, 000 2,000 2, 000 2, 000 2,000 2,000
BRBHAEE &, T FC200 0000 9/ ke 530) 530 530 530 530 530 530
AL FC250 0000 M kg 530 530 530 530 530 530 530
e FC250 0000 M kg 530 530 530 530 530 530 530
PP & B b FCD450 0000 9/ kg 935 935 935 935 935 935 935
EARL T (4fF)  FC250 [0000 E 610 610 610 610 610 610 610
759 TH (4f)  FC250 [0000 1/ ke 665 665 665 665 665 665 665
VAR (Bl 7) (4ff)  FC250 [0000 E 823 823 823 823 823 823 823
A (L) __Fop100 - 4500000 M kg 927 927 927 927 927 927 927
PHRAR 2 SC450 0000 1/ kg 3, 060! 3, 060 3, 060! 3, 060 3, 060) 3, 060 3,060
Wy TV T ; SC450 0000 M kg 1,290 1,290 1, 290 1,290 1, 290 1, 290 1,290
7 CRARE - 107 100" - Zzooi) [KJEM thavy 0000 1/m3 151, 000 151, 000 151, 000 151, 000 151, 000 151, 000 151, 000
iE) ERli L, AR, EE, RERHIEEAVLOLT D,

1.
2. bR IR LAtk & L. BATROMBERI & T %,
3.

A O HEAfZm3 L 3 5.

125

16_ AR H(H29.11.1).xIsx 10/12




CHif - [9)

, FERXT A " 129 —
it e | s it T T T e T o o T o i %
(3) AT UL REflR - SHEE U&Ebﬁ%mﬁﬁmiﬁﬁﬁ
I REREAT VAR A"~ SUS304 0000 M kg Al 25 K3 A )i 5 Al 25 Al 2 Kk A Al 25 Al 2 e H
FARESEAT/ VSRR~ Mk |SUS304 0000 1/ ke ] i Yo Wi Dy Dol Wi EL10 ]
BARHFEAEAT /Y AR~ Ak [SUS304 0000 M/ ke il il il A RO A
FLEAERT YV ASRAR  iAb 78 SUS304 0000 M ke 10
[ EE A7 Y ASH SUS304 0000 1/ kg 10
A A7/ Y ABR SUS304 0000 M ke 20[7
T A A7 Y AgH SUS304 0000 1/ kg 30 30 30 30
EAS SUS304 0000 M/ ke | PR A | WIEEBA | DEESA| DEEsH| WA | Wik A | Wifigki04
AT oL AR SUS304 0000 [ ke 20 20 20 20 20
2T v L A Gl SUS304150< ¢ =200 0000 M/ ke 30 30 30 30
2T L A Gk SUS103_25= ¢ <100 0000 M/ ke :
AT L AGE SUS403 100< 0000 1/ ke [
SUS403_ 150< ¢ =200 0000 M ke 25= ¢ =100
~S50C 25= ¢ =100 0000 1,/ kg Wit HimE
S150~550C_100< ¢ =150 0000 ke 2 2 2 2|2 25< ¢ =100
SI5C~S50C 150 = ¢ =200 0000 M/ ke 4 4 4 4 =100
SI5C~550C 200< ¢ =250 0000 1 ke 6 6 6 6 2 =100
515c~ssoc 250< ¢ =300 0000 M kg 3 8 8 8[~"—1 25= ¢ =100
IS DIk, MEHEER OA 2 T v 725135 L.
ZOWNTIZAMEAS ¢ 300mmEh F T, T 23 EL iy 2N TIE
%Wﬁkmrzawfrﬂmmwssom DHEHEEET D,
(4 7k§:|L\
#HaL (P2 20 4] 0000 ke 3, 860 3, 860 3, 860 3, 860 3, 860) 3, 860, 3, 860
(P 20~50 0000 ke 3, 860 3, 860 3, 860 3, 860 3, 860 3, 860 3, 860
(P2 50~170 0000 ke 3, 860 3, 860 3, 860 3, 860 3, 860 3, 860 3, 860
(PF¥) 20Kk 0000 kg 3, 860 3, 860 3, 860 3, 860 3, 860 3, 860 3, 860
(PJ¥) 20~50 0000 ke 3, 860 3, 860 3, 860 3, 860 3, 860 3, 860 3, 860
(PJ%) 50~70 0000 ke 3, 860 3, 860 3, 860) 3, 860 3, 860 3, 860 3, 860
%) 20 Kl 0000 ke 3, 860 3, 860 3, 860 3, 860 3, 860 3, 860 3, 860
2] 20~50 0000 ke 3, 860 3, 860 3, 860 3, 860 3, 860 3, 860 3, 860
%) 50~170 0000 kg 3, 860! 3, 860 3, 860 3, 860 3, 860 3, 860 3, 860
) 10 0000 ke 3, 750 3, 750 3, 750 3, 750 3, 750 3, 750 3,750
/) 10~30 0000 ke 3, 750! 3,750 3, 750 3,750 3,750 3, 750 3,750
T LOB IR L. T el RO A C b B
E AT A (U n U7V*/—f)
SR 4. 7N /mm2 (150kg, cm2) LA L
Wk it : ERE TR %
ﬁ&'\*ﬁﬂ#mﬁw 300% LAt
TR 3 7 EEEE40~80
Jbif :1.25g “cm3
16_ AR (% (H29.11.1).xlsx 11/12
— - | I CHAT = 1)
B i H29
i id s | ab | S ;N Y SN E ;WS 7 DN E N N:Y; BV =N N; BU= N NSV DN i
(5) "uxy (BRIL)
Al /«?/ (Frpi = L) 600 10HcA 0000 1/ ¥ * * * * B * *
(BT ) 600 10fi~20% 0000 M # * * * * * * *
(A = 700 10FCA 0000 9,/ ¥ * * * s % * ¥
700 10K~204% 0000 Mk * * * * B * *
800 10BCRM 0000 EEs * * * * * * *
800 10K~204% 0000 0/ k * * * * * * *
900 10HRi 0000 A * * * * * * *
900 104x~204k 0000 4/ K * * * * * * *
1,000 10Kk 0000 M/ * * * * * * *
1,000 10Fz~20fk 0000 VA * * * * * * *
1,100 10 0000 1/ * * * * * * *
1,100 10f~20f% 0000 M/ * * * * * * *
1,200 10FCAI 0000 0/ * * * * * * *
1,200 10#~20f% 0000 M/ * * * * * * *
1, 350 1OBCRM 0000 L4 * * * * * * *
1,350 104~204% 0000 Mk * * * * * * *
1,500 10Kk 0000 M/ * * * * * * *
1,500 104~204% 0000 /% B * * * * * *
1,600 10#AiH 0000 M/ k% * * * * * * *
1, 600 1042~20f 0000 9,/ ¥ * * * * * * *
1,650 10# i 0000 [E * * * * * * *
1,650 10Fz~20f% 0000 1% * * * * * * *
1,800 10Kk 0000 M/ * * * * * * *
1,800 10~20f% 0000 0/ * * * * * * *
2,000 10K A 0000 B * * * * * * *
2,000 10#c~20% 0000 M/ * * * * * * *
1,800 X2, 600 _10FCAH 0000 B/ * * * * * * *
1,800%2, 600 10Fc~20f¢ 0000 N,/ * * * * * B *
2, 000X2,900 _10HAiH 0000 M/ H * * * * * * *
2,000X2,900 104~208% 0000 0/ K * * * * * % *

126

16 AR H(H29.11.1).xIsx 12/12






